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Al 5,525,875
=sws =4 XN& 5,203,554 5,339,118 A 135,564
= 68,000
Al 5,135,554
HEns AMblA e (LSAIESE 5 H) 3,120,385 4,307,477 A 1,187,092
= 68,000
Al 3,052,385
SSAMY MHlA S K& 18,340 18,400 260
201 Let24d] 2,440 1,000 1,440
01 At 22/l 2,440 1,000 1,440
O1 Let==ZH| 2,440
PUHsLsS R34 B2 M=
50,000& 204 1,000
DE2sBAML MHIANS ZAE
480,000& *33| 1,440
202 Odl 8,400 8,400 0
01 = LH 4 Hi 8,400 8,400 0
OAZE SRS 2510 & MHIAME AtE BE
o4 bl 700,000 =128 8,400
301 et d = 7,500 9,000 A 1,500
09 HALAHIEA S 7,500 9,000 A 1,500
OnEEsLd 3 HE4A AKX AS
500,000& «1521«13] 7,500
NsgLRsSHMAHTS) +5 962,195 1,235,195 A 273,000
201 £B-2dH| 556,915 529,915 27,000
01 At 22l 9,000 9,000 0
O1 Let==ZH| 600
DLDS2MUAE 2SH(EN L AREETLY
) 50,000& 122 600
O3 2d=¢ 8,400
PRELBSANLUY MofIAE 2Yag
100,000& »721 122 8,400
02 =24l 547,915 520,915 27,000
O1 3322 £ AMA 318,480
DHEIILRSB 318,480
OusdEBHH R&Z 22,000,000 128 264,000
OBIS(Xt2EoHL & 2D])
25,0003 =1800H x12& 54,000
OAUHA SSAIAH
40,0003 * 1 2~ +12& 480
O3 AIZ ZHI =Xl 229,435
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PNSEEMH ¥ HUEsSnsS FEAAE 2K
B 222,000,000& =14 222,000
> ITSSHOIX SXE=x=
49,562,800 «15/100 7,435
202 0db] 2,400 2,400 0
01 2LHOHI 2,400 2,400 0
ONEAHEL L DEAAE HA b
200,000& x12& 2,400
401 Al HI YL 2 0HHI 402,880 702,880 300,000
01 A& HI 400,000 700,000 300,000
OITSAIE&2 SAEx 20,000,000& *10& 200,000
OHAXEBAIAE(BIS) A Z2A
200,000,000% 14! 200,000
03 Al& 201 Y] 2,880 2,880 0
OAl& 20| 400,000,000& *0.72/100 2,880
WEsSAHNMALEE X ¥ I 980,218 987,499 NT,281
201 Bt A | 160,726 216,446 A55,720
02 352494l 160,726 216,446 A55,720
O1 2222 ¢ HMA 132,710
DEIRS 20,000& *55001 A+ 12& 132,000
DASAEE = 500, 000& *1CH 500
> Xt Xk Al 50,000& 1 CH 50
DEFINNERE S 70,0003 = 1CH x23] 140
DAUSAEAMES 20,000& 13l 20
O3 A& &Hl R4l 17,600
DANSS ot EH 55,000& *320 1 A 17,600
O4 Zt&. detdl (6ol Es) 10,416
PUEANEESXSE RFU 7,000,000 104 7,000
> Xt &= A8l 3,416,000& = 1CH 3,416
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01 & bl 100,000 70,000 30,000
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OuSASSHOHI 24 (HIHAH)
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OAIZ 2 HI 713,000, 000& *0.63/100 4,492
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= 68,000
Al 68,980
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Al 68,980
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& 68,000
Al 68,000
03 Al 2 THHI 980 1,080 A 100
OAIE S THHI 136,000,000% *0.72/100 980
HASZE d4d 2 2+ 587,145 572,168 14,977
201 ¢er24] 130,284 124,740 5,544
02 =224l 130,284 124,740 5,544
O3 A€ &Hl |XlHl 130,284
DS2E SHIAFUI(HA L EHAl)
18,800& x6307H A+ 113 130,284
401 A& HIZ 201 8] 456,861 447,428 9,433
01 A& HI 454,000 444,000 10,000
OAs2d A& & wil 400,000
DIl2d (Hrgaol & X4 xl)
10,000, 000& *30H A 300,000
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1,000, 000& *50H A~ 50,000
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>R 120, 000& 2000 2~ 24,000
03 Al S HHI 2,861 3,428 A 567
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801 0l 5l Bl 435,507 1,343,135 N 907,628
01 ollbl Bl 435,507 1,343,135 A 907,628

Oulyl gl 435,507,000 =14 435,507
OFM Ol Al 23 (1 S43AH) 160,086 104,386 55,700
glo] nsotduN=E F 59,800 47,800 12,000
307 QI2t0| M 47,800 47,800 0
05 A2t E = 47,800 47,800 0
OelolnE= 2t E 47,800,000& * 14 47,800
405 XHabF SHI 12,000 0 12,000
01 MMM =ESHS 12,000 0 12,000
Ol nE=s APl F e
7,000, 0003 =14 7,000
ONeol nssd PC 22X ¢
1,000,000& =3CH 3,000
OWelol nss& PC 2UH 7Y
350, 000& =2CH 700
ONE0 nessd tE= ¢
1,300,000& = 1CH 1,300
TeIet X & X & 31,416 30,586 830
201 L2 Y| 21,336 23,386 N 2,050
01 AP 2t2ldl 12,586 15,286 A2,700
O1 det=& 7,000
PuUWEXNE =22 H&
5,000, 000& * 14 5,000
= PN ANsSit dHEe s22
& 2,000,000& * 14 2,000
O4 Il =4| 1,470
DN R=E=PNE=—DN} =3 1,470
Oot= 110, 000& *x39! 330
oss 140, 000& %321 420
ogs= 70,000& 30! 210
O&FEFS 70,000& *30! 210
O &3t 50,000& 30! 150
O &al3 50,000& %32l 150
O5 = &l 4,116
DHARABXNSEX ANEHS E2X S A
7,000 x7Q1x7L x12& 4,116
02 3524l 8,750 8,100 650
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202 044l 10,080 7,200 2,880
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NEHEAE 29 43,600 26,000 17,600
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OUsSE HERF IEs A4
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307 21201 A 36,000 22,000 14,000
02 22t E2x= 36,000 22,000 14,000
OusSetdEoyAl NH Aos s XN
10,000, 0003 * 1Al 10,000
Ozg=2&Xt3 g4l XN& 16,000,000 14 16,000
OOEol WSAD Y gsH X
10,000, 000& 14! 10,000
Oglolnssd Zl 25,270 0 25,270
401 Al HI K 201 I 25,270 0 25,270
01 A& HI 25,000 0 25,000
ONgolns3¥ =IE FHSAM
25,000,000& =14 25,000
03 Al 2 THHI 270 0 270
OAlZ =Rt 25,000,000& *1.08/100 270
=X el (RWSAIE S H) 1,923,083 927,255 995,828
=3X X =EXE FZH| 22,000 50,324 N 28,324
401 Al HIZ 201 Y] 22,000 50,324 N 28,324
01 A& HI 22,000 50,000 A 28,000
OFEX 2X+9 & HeXSE EXE &3
22,000,000& =14 22,000
WE =x& 2J Ex25 N 24,000 40,000 A 16,000
402 2I2H X201 M 24,000 40,000 A 16,000
01 RIZEAt=2E X 24,000 40,000 A 16,000
OUEF=XE ZJI M K&
2,000,000& =120t + 24,000
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101 124 dl 42,313 0 42,313
4 D12t Z2XREES 42,313 0 42,313
OULSAILEESA Mg A= 42,313
>olEas 47,4003 #2021 %209 19,814
PEEH 47,400 291 x50 4,740
> AX =G 47,4003 +221 10 948
>aNS 1,975,000& x43| 7,900
>aSaltd ¥ WwsS2XH 250,000 221102 5,000
D=0z 38,402,000& x4 .5% 1,729
PAZEE 38,402,000& *2.945% 1,131
DEIIRY 1,131,000& 6. 55% 75
>PIESEE 38,402,000& *1.5% 577
DATHE S 38,402,000& *1.039% 399
201 LBH2E | 550,430 545,043 5,387
01 At 2t 2l 54,550 94,065 A 39,515
O1 get=2Hl 40,285
DEYHFEXN HE2H AMS 15,965
OHZAEIH(MNEHERD L HOHA )
2503 +7,2000H 1,800
O DX AM 603 *7,0000H 420
OEBANMSEAN 60& *7,0000H 420
oAeNIsEXNA 250& *5000H 125
OPDA & AEIHE 100,000& »2%F A 200
O2ABND Y SESEA
65,0003 200 A 13,000
DEHFIXN HHADE(ZBE, ¥ 5)
800,000& =14 800
DIOEH A2F(EU, HELX £E8)
12,000, 000& 14 12,000
DEEFEI AHS E2S2
3,000,000 =14 3,000
DAVIASA U SOICHENBA 2|
00,0003 2 & +12& 2,400
Hdotx HEa 60,000 =170 & 60
DASH2AHINEES HAAHS 2 =25
100& *3,000H 128 3,600
DRUSXHBHBENR MBIC 44 242
6,000,000 *0.03*12& 10 & 2,160
DAUASXHASNHNE MEN HALFESI =
= 3,000& »100AH 300
O4 1lsl 6,600
DEYUFIR SEQA(SH AQIIALEE) 6,600
O dot= 110,000& =122l 1,320
os= 140,000& 120! 1,680
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O H3t 50,0003 «1221+23] 1,200
o &s= 70,000& x12¢! 840
O EF&tt 70,0003 129! 840
oFAFR 60,000& = 120! 720
O5 &l 7,665
DEYHFI HH(FL.0k2H) L SE+30U
= 7,000% #3021 %3652 7,665
02 =224l 495,880 450,978 44,902
O1 3322 ¥ AA 302,087
DRELSI(AUS WEHE DXAN SEE) 178,800
0 &7l 1,900& +5,00000 x12& 114,000
O gt 2703 20,0000 x12& 64,800
DOXESHEI A= 25,0003 1504128 4,500
DEHFEXNHS CCTV &8II23
40,0003 «42CH =122 20,160
DEHFEXNHSE CCTV EE3H 23
170,000& »423] H 123 85,680
DAUAsX SEMNERE S 80,000 +3CH+23! 480
DASI HA =22 23,000& x93] 207
PSS BEEE 500,000& »7CH 3,500
FAE L AUAMEA 8,760
oONMIIR= 100, 0003 *6H A+ 12& 7,200
OMSt=ER3 65,0003 *201 2 x 128 1,560
O2 A=l 782
DACIAIR & (L) 1,356 *x8A| 2k x72L 782
O3 A& & HI s Xt 113,730
folcEaas A HARS
1,500,000 *2H A 3,000
DLOOXNESRHED 40,000& = 15CH 600
FAHE HSAAE A2+
3,000,000 »5CH 15,000
DACIAIR A 208 KA
4,000, 0003 * 14! 4,000
DROHEAAHE FXNES
6,200,000& x12& 74,400
>E=E PDA RAES 4,000,000& =14 4,000
D> ACIAIR A CCTV KA
1,730,000& 14 1,730
DAMSIAFIE CCTV XN E=
1,760,000& 14 1,760
Dald HSAIAE OlF A X
1,500,000& 14 1,500
DEXNZ EF ANLAE RAES
330,000& 128 3,960
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DAsA 23E WEHE AH SXE=
40,0003 x12& 480
PExae E208 RNAEs
275,000& 128 3,300
O4 xt&. o8l 79,281
DXEssH 41,526
[OR=2=; 7,553,000 =4 CH 30,212
[OR=3-=1PX; 4,392,000& 1CH 4,392
O ACIXt 3,461,000 »2CH 6,922
> Xt &= X dl 37,755
[OR=2=D; 6,867,000 =4 CH 27,468
[OR=3-1PN; 3,993,000 = 1CH 3,993
O ACIXt 3,147,000 »2CH 6,294
202 o4dl 25,440 16,800 8,640
01 = LH o4 4l 25,440 16,800 8,640
OS8=F3x &= 2 MY UehzE = Ol 25,440
DEY=EI = ol 1,620,000 »12& 19,440
DASA2E MY ‘EHE F=04
500,000& = 12& 6,000
301 LEtE A= 500 0 500
09 HALAHIEAS 500 0 500
OEY=ZI = XA 10,000 50 500
305 a2 S 2,000 2,000 0
01 tia=8 2,000 2,000 0
QU ACI X=Xt 2l&HH & 200,000 *10CH 2,000
405 THebH S| 181,400 1,000 180,400
01 AL =2 ZFH S| 181,400 1,000 180,400
ORQltks CCTV &sHE 5,800,000 »28CH 162,400
OF&x &8 g ¢ 19,000, 000& = 1CH 19,000
SEFUHE =4 1,075,000 80,720 994,280
401 A& BIZ 201 8I 1,075,000 80,720 994,280
01 A& HI 1,075,000 80,720 994,280
O&¥Zel 3GXDX FANE=>
5,000, 000& 1Al 5,000
OBLEFXE =48 & NERXNES(5HA)
50,000,000& » 14! 50,000
OREd 43 IIFUHE DL (RN
1,000,000,000& 14 1,000,000
OYUTATIE OHF T CHy|
20,000,000& » 14! 20,000
HH2IZH (nSEHF D) 390,321 0 390,321
Ol SYH(NSHE W) (LUSMESLEIAH) 311,079 0 311,079
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CladAdH|(WE 311,079

101 @121 311,079

03 2IHA=ZZ2XHE %= 311,079

OslgdsAMNE (e JI=E) 217,239

>IIE23 1,191,510& *82I x12& 114,385

>ANS 114,385,000& *4/12 38,129

DAIZER 222Y 8,988 & x801 x420A| 2¢ 30,200

DEUIRLE 72,2503 %801 x 12 6,936

> A 34,1603 *821 x 10 2,733

> & HZ A 50,0003 *801 x12& 4,800

DS 2 x| 50,0003 x802! x12& 4,800

>E&0d 10,000& *791x92 x 12& 7,560

> X L&l 192,382,000& *4% 7,696

OgdBxZa (788 JI=E) 42,820

Dol 1,035,000& #2021 x12& 24,840

> a2 24,840,000& *4/12 8,280

>AZIRI 2R S 7,654& x201 %240 Al 2+ 3,674

PR 61,5303 #2021+ 12 1,477

> A 29,6703 *201x10 594

> &M=z AlH| 50,000& *2021 x12& 1,200

D nNEEXH| 50,0003 *201 x12& 1,200

> H<LIHE I 38,864,000& *4% 1,555

O=0d2 22 252,496 ,000& *4 . 5% 11,363

OHUdEE= 252,496,000 *2.945% 7,437

oIy B2ga 7,436,000& *6.55% 488

OngHs&= 252,496 ,000& *1.5% 3,788

O¢tMEE = 252,496,000 x1.039% 2,624

O£ 4,320

> o2 110, 000& %82l 880

>E= 140, 000& *82! 1,120

>3t 50,0003 *821 *23] 800

> ==&t 70,000& =89! 560

> ests 70,000& =82l 560

> &AL 50,000& =892l 400
OEFAZ HE2(FHEAIB)

21,000,000& *14] 21,000

N2 A (REAMSSLEH) 79,242
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201 Bt H | 55,272

01 At 22l Yl 51,672
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DENM2IE=SH (SASI 2 105)
2,500,000& x12& 30,000
DEAD Y ZEH EH.EE
300,000& =150 23| 9,000
Dus2td HAEE 30,000& »8&H 240
O5 =&l 12,432
DOt 5222 7,000& #3721 x43| x 123 12,432
02 232gHl 3,600 3,600
O8 A& &l Xl 3,600
DEMI & KA+ 300,000& x12& 3,600
202 oddl 11,700 11,700
01 SLHOYI 11,700 11,700
OJl2ge2=8 ol 975,000 128 11,700
203 YR =&l 4,620 4,620
04 ENSSHRF=EHI 4,620 4,620
ORM2IYRF&bHI(3721) 385,000& 128 4,620
405 RHoHE S HI 7,650 7,650
01 et EFSFHSHI 7,650 7,650
OPC 1,350,000& 504 6,750
OXNAE A (LR E) 180,000& 54 900




